Grammar
Lesson 19

with pronouns

Fourth Pair (that shows relation)

In this lesson we will learn the use of pronouns in the pair that shows relations. For example, we will take

443 instead of & .

» There will be on effect on pronouns: W c(‘i ‘(s «&k (o4 4. Let us use this pair in sentences and practice

with TPI.
examples states
4435 ' Original state (3, state) ? i
(o, ] 2% %% - . — 4 I
4y 3y |5 When there is effect (<was state) W\ s
. . 9, " wr
Al @ 423 After preposition (- state) I Al
Note: For the third case, instead of 4w it is read 4xs for the convenience.
> Let us take another examples with a female pronoun.
examples states
Lé_j 3 | Original state (a2, state) ( ‘-GJ 3
iS5 L8l When there is effect (e state) ‘W\ 5
cw 3 ,% .. P
L@gﬁ dis|  After preposition (~ state) RN ‘.Gi})
> Let us look at the effect of preposition on such pairs.
If you have s + a pair of relation If you have = + a pair of relation
] ¢ -ﬁ/ o ¢ 5/
435 G < A SR <€ A
2 4% 2 ’ 5 Q‘, 2 w , 4 -5/
i < - wr < et
ART: AR AR AR
e < x = € =
A A2 2 2 ) A
. >w b é (;S_'U : ;5?’ é (‘S_‘U
L5 o < 3 SR < 5
e 3 —r < 3
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